
Opérations avec deux fractions mixtes (D)

Nom: Date: Note:

Calculez chaque résultat.

1. 537 − 3 518 =

2. 112 × 514 =

3. 513 + 112 =

4. 567 ÷ 4 712 =

5. 5 713 ÷ 512 =

6. 513 + 3 813 =

7. 519 + 21517 =

8. 525 × 117 =

9. 513 − 435 =

10. 138 × 512 =
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Opérations avec deux fractions mixtes (D) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1. 537 − 3 518 = 38
7 − 59

18 = 684
126 −

413
126 = 271

126 = 2 19126

2. 112 × 514 = 3
2 ×

21
4 = 63

8 = 778

3. 513 + 112 = 16
3 + 3

2 = 32
6 + 9

6 = 41
6 = 656

4. 567 ÷ 4 712 = 41
7 ÷ 55

12 = 41
7 × 12

55 = 492
385 = 1107385

5. 5 713 ÷ 512 = 72
13 ÷

11
2 = 72

13 ×
2
11 = 144

143 = 1 1
143

6. 513 + 3 813 = 16
3 + 47

13 = 208
39 + 141

39 = 349
39 = 83739

7. 519 + 21517 = 46
9 + 49

17 = 782
153 +

441
153 = 1223

153 = 7152153

8. 525 × 117 = 27
5 × 8

7 = 216
35 = 6 635

9. 513 − 435 = 16
3 − 23

5 = 80
15 −

69
15 = 11

15

10. 138 × 512 = 11
8 × 11

2 = 121
16 = 7 916
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